

## K'vj K'j v'fmi m'fvej x

$$\frac{d}{dx}(x^n) = nx^{n-1}; \quad \frac{d}{dx}(\sqrt{x}) = \frac{1}{2\sqrt{x}}; \quad \frac{d}{dx}\left(\frac{1}{x}\right) = -\frac{1}{x^2};$$

$$\frac{d}{dx}(e^x) = e^x; \quad \frac{d}{dx}(e^{mx}) = me^{mx};$$

$$\frac{d}{dx}(a^x) = a^x \ln a;$$

$$\frac{d}{dx}(\ln x) = \frac{1}{x}; \quad \frac{d}{dx}(\log_a x) = \frac{1}{x} \log_a e$$

$$\frac{d}{dx}(\sin x) = \cos x; \quad \frac{d}{dx}(\sin(ax+b)) = a \cos(ax+b);$$

$$\frac{d}{dx}(\cos x) = -\sin x; \quad \frac{d}{dx}(\cos(ax+b)) = -a \sin(ax+b);$$

$$\frac{d}{dx}(\tan x) = \sec^2 x; \quad \frac{d}{dx}(\tan mx) = m \sec^2 mx;$$

$$\frac{d}{dx}(\cot x) = -\operatorname{cosec}^2 x; \quad \frac{d}{dx}(\cot mx) = -m \operatorname{cosec}^2 mx;$$

$$\frac{d}{dx}(\sec x) = \sec x \tan x; \quad \frac{d}{dx}(\sec mx) = m \sec mx \tan mx;$$

$$\frac{d}{dx}(\operatorname{cosec} x) = -\operatorname{cosec} x \cot x;$$

$$\frac{d}{dx}(\operatorname{cosec} mx) = -m \operatorname{cosec} mx \cot mx;$$

$$\frac{d}{dx}(\sin^{-1} x) = \frac{1}{\sqrt{1-x^2}};$$

$$\frac{d}{dx}(\cos^{-1} x) = -\frac{1}{\sqrt{1-x^2}};$$

$$\frac{d}{dx}(\tan^{-1} x) = \frac{1}{1+x^2};$$

$$\frac{d}{dx}(\cot^{-1} x) = -\frac{1}{1+x^2};$$

$$\frac{d}{dx}(\sec^{-1} x) = \frac{1}{x\sqrt{x^2-1}};$$

$$\frac{d}{dx}(\operatorname{cosec}^{-1} x) = -\frac{1}{x\sqrt{x^2-1}};$$

$$\frac{d}{dx}(u \pm v) = \frac{d}{dx}u \pm \frac{d}{dx}v; \quad [\text{thLvfb } u, v - x \text{ Gi dvskb}]$$

$$\frac{d}{dx}(uv) = u \frac{d}{dx}v + v \frac{d}{dx}u; \quad \frac{d}{dx}\left(\frac{u}{v}\right) = \frac{v \frac{d}{dx}u - u \frac{d}{dx}v}{v^2}$$

$$\text{e} \mu \text{ti Lvi } \bar{u} \text{ k} \text{Ki mg} \text{Ki Y}, \quad y - y_1 = \frac{dy}{dx}(x - x_1);$$

$$(x - x_1) + \frac{dy}{dx}(y - y_1) = 0$$

$$\int x^n dx = \frac{x^{n+1}}{n+1}; \quad \int (ax+b)^n dx = \frac{(ax+b)^{n+1}}{a(n+1)}$$

$$\int e^x dx = e^x; \quad \int e^{mx} dx = \frac{e^{mx}}{m};$$

$$\int a^x dx = \frac{a^x}{\ln a}; \quad \int a^{mx} dx = \frac{a^x}{m \ln a}$$

$$\int \frac{1}{x} dx = \ln x; \quad \int \frac{1}{ax+b} dx = \frac{\ln(ax+b)}{a}$$

$$\int \cos x dx = \sin x; \quad \int \cos(ax+b) dx = \frac{\sin(ax+b)}{a};$$

$$\int \sin x dx = -\cos x; \quad \int \sin(ax+b) dx = -\frac{\cos(ax+b)}{a};$$

$$\int \sec^2 x dx = \tan x; \quad \int \sec^2(ax+b) dx = \frac{\tan(ax+b)}{a};$$

$$\int \operatorname{cosec}^2 x dx = -\cot x; \quad \int \operatorname{cosec}^2(ax+b) dx = \frac{-\cot(ax+b)}{a}$$

$$\int \sec x \tan x dx = \sec x;$$

$$\int \operatorname{cosec} x \cot x dx = -\operatorname{cosec} x;$$

$$\int \tan x dx = \ln |\sec x|; \quad \int \cot x dx = \ln |\sin x|;$$

$$\int \operatorname{cosec} x dx = \ln \left| \tan \frac{x}{2} \right|;$$

$$\int \sec x dx = \ln \left| \tan \left( \frac{\pi}{2} + \frac{x}{2} \right) \right| = \ln |\sec x + \tan x|$$

$$\int \frac{dx}{\sqrt{a^2-x^2}} = \sin^{-1} \frac{x}{a}; \quad \int \frac{dx}{\sqrt{1-x^2}} = \sin^{-1} x;$$

$$\int \frac{dx}{a^2+x^2} = \frac{1}{a} \tan^{-1} \frac{x}{a}; \quad \int \frac{dx}{1+x^2} = \tan^{-1} x;$$

$$\int \frac{dx}{a^2-x^2} = \frac{1}{2a} \ln \left| \frac{a+x}{a-x} \right|;$$

$$\int \frac{dx}{x^2-a^2} = \frac{1}{2a} \ln \left| \frac{x-a}{x+a} \right|;$$

$$\int \frac{f'(x)}{f(x)} dx = \ln |f(x)| \quad [\text{A\_vr thvR'' i v'k'uJi j e, n'fii A\text{S}iK}$$

n'tj, Zvi thvMR n'fii j'tbi cig gvb n'fe|]

$$\int (uv) dx = u \int v dx - \int \left( \frac{du}{dx} \int v dx \right) dx \quad [\text{A\_vr } \bar{\beta} \text{W dvskt'bi}$$

Yd'tj i thvMR = 1g dvskb × 2q dvskt'bi thvMR - (1g dvskt'bi A\text{S}iK mnM × 2q dvskt'bi thvMR) Gi thvMR]

[e.\text{'} - th mKj dvskt'bi thvMR w'Y\text{Q} Ki v hvq bv \text{m} mKj dvskb'tK c\text{0}g dvskb ai t'Z n'fe|]